Wednesday 1st of April 2020

Hi guys,
Here is Wednesdays work. I hope you are attempting it as best you can. Just make sure you scroll to the very end of each page!!!
Remember to keep up washing your hands regularly, sneezing into your elbow and social distancing.
Kind Regards,
Mr. Culbert
English
Exercise Your English pg 56 and 57
Continue on in your story you started yesterday
Reading for 30 minutes
Maths
Operation Maths pg 116 and 117
Mental Maths Wednesdays Test
Practice/Revise some tables
Gaeilge
Beal Beo pg 14 
History
The History of Chocolate 
https://www.bbc.co.uk/bitesize/articles/zngsqp3
If this link doesn’t take you to the page you need to copy and paste it into a new tab.
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Google translate can help with some of the words
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History – The History of Chocolate: https://www.bbc.co.uk/bitesize/articles/zngsqp3


[bookmark: _GoBack]Final part of today’s work is to write 30 pages on what the weather is like today!!

.
.
.
.
.
.
.
..
.
.
.
.
.
.
.
.
Happy April Fool’s Day!!!     

Haave a good day and talk to ye tomorrow! 
Mr. Culbert
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Tallc Time Lok more carefullg ot e answer each tme you muliply on even
number by 6. Do you spac aay paitem’

Copy these bar modes to solve the problems. Don't forget to
wite the multipication sentence.
There are six eggs in @ box. How many eggs are thee in three boxes?

Total e

Egg box

3x6= Thereare _eggs in total

Vera earns €4 pocket money per week for doing chores. How much money
would she earn in six weeks?

I pocket money?

ek

bx b= Vero wauld eorn €___ n six weeks
Now draw your own bar models to solve these. Dorit forget to write a
multiplication sentence for each one
Paul bought eight bags of apples. If there were six apples in each bag, how
many apples did he buy in total? Paul bought __ apples
There are nine players on a basebll team. How many players took part in
the league if there were eight diferent teams? There were —__ players
() Atoy shop got a delivery of nine new tricycles. Al of the tyres needed
10 be inflated. How many tyres needed to be infated in total?
) The soles assstant nflated 19 of the tyres befor taking a rest. How
many were et to inflte?
Seven trays of buns were baught for a meeting
()1 there were nine buns on every tray, how many buns were bought?
) I only five trays of buns were eaten, haw many buns were lefi?
How much change did Paul ge if he used a €50 note to buy seven footballs
costing €6 each?
Oleg has €6 in his pigqy bank. Asta has nine times more money than Oleg.
@) How much money has Asta?
(i) How muuch money do Oleg and Asta have between them?
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Spot the Differences

How many differences can you find between the two pictures?
Mom left the kitchen for five minutes. Talk about what might have
happened while she was gone.

How do you think Mum will eact?

Create and perform a short drama where the different characters have to.
explain what happened while Mum was out of the room.

Brain Teaser  Answer: ‘Red!. Give four possible questions.

Edco Resources @
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@ Usualy, to keep the first vowel in a word short, double the middle consonant.

holly/holy liter/ltier sumer/summer teddy/tedy

~ 8 F &

Kiten/kitten Tommy/Tomy ladderlader tumy/tummy.

¢t 8 ®

letter/leter banner/baner

E Ifelt when | took the medicine. (better/beter)
The baby came at eight o'clock. (ster/stter)
We made for the pancakes. (bater/batter)
Mark is my best (buddy/budy)
Alemon has a taste. (biter/bitter)
The more you train the you wil be. itterffiter)
Isawa in the museum in Egypt. (mummy/mumy)
We went to the beach as the day was (sunylsunny)

Edco Resources @
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3x6 = b+bs6=18
3x6=18

6% Treble the number and
double the answer

3x8=24

6x8 — 2x2%al8

bx8=18

Qx Treble the number and
treble the answer

3xk=12

Axy — 3x12-36

Axli=36

Double the number and add the
number to your answer.
2x6=12
3x6 — 124618
3xb-18

Five times the number ond add
the number to your answer.
5x3=15
6x3 — 15+3-18
bx3=18

Ten times the number and subtract
the number from your answier.
10x 4= 40
Axl — W0-k=36
Axb=36

Use your thinking strtegies to find the missing products

bx5 =
3%10 =
ax10
3x9q
bxb
ax7
Ixb

Now try these.

ax9
3x7
6x2
6x7
6x10
ax3
ax10
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